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Question 1

If two vectors A=3i—j+kand
B=4i+aj-2kare
perpendicular to each other
then the value of "e’ will be
TG (SFTA=3i—j+k g4
B =4i+aj-2k
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Question 2

If V{1/r) = -r/r’ then the
value of V(1/r%)is

TARY(1/1) =-r/rieE
V(1/r") S99 2T

Question 3

Value of the integration

JAx (d®A/dt?)dt is

[A x (d?A/dt2)dt a3 FaEeieg 7=
=

Question 4

Which of the following defines
a conservative force F ?

(@F1af6 =afFe I F 937 &fey ?

Question 5

If Ais a vector the equation
JJ(V.A)dv=[JA.dSisa
statement of

75 A 5F6 (sed T BE
T (V. A)dv=[[A.dS 53 FiFaeft
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Question 6

Thevalueof |[AxB |2+ |AB|?
equals to

|AxB |2+ |AB|2a FFfGA
T =T



Question 7

The vector R is solenoidal if

(934 R Ao =1 I

Question 8

Find the work done is moving a
particle in a forcefield F =
8xyi —j along the path x=tand
y=t'fromt=0tot=1is

%5 Fefl FeCFa F = 8xyi—j
AFAET X =t AT y = 2 9
t=0tot=1 SN T TS e
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Question 9

If e,-icosd +sind and

gy =—isind + jcosd then dep/dt
will be

75 e -icosd +jsing a7z

g4 = — isind + jcosd T dey/dt
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Question 10

The necessary and sufficient
condition for the first order
differential equation

P{x,y) Ox + Qix,y} dy =0 to be
exact :

SR THA ST AT P(X,y) 8%
+Q(xy) 8y = 0 5 Tymy =973
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Question 11

First property of orthogonality
relation of Legendre’s is given

by f_Ll Pn(x)Pm(x)dx =0 for
Legendre’s SEsEIGE o=

wafiEr 1, Pn(x)Pm(x)dx =0
(T TG 6 I ?

Question 12

The equation is called
dy/dx? = 2x(dy/dx) + 2vy =D
{where v is a non-negative
constant)



9% RTBET d?y/dx? —
2x(dy/dx) + 2w =0
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Question 13

A problem in electricity is given
to three students A, Band C
whose chances of solving it are
1/2, 1/3 and 1/4 respectively.
What is the probability that
the problem will be solved?
a5fe SfEs a7 s feasa =@ A, B
AT C (F (571 T, TATE AT
HAHT 919 A2 I 1/2,
1/3, 938 1/4 | oAfE S 28T
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Question 14

The solution of the differential
equation diy/dx? = x is

diy/dx? =x 3 TEE SRFadiea
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Question 15

The Fourier series for the

function f{x) =»* for - rsxsmis

¥ =m3 — 4 cosx—cos2x/22+

pesSfa i }. The value of

Ti12is

SeTHF f(x) = x> A7 - KX

S BIFSH (It 7 x? = /3 — 4 (

COS X — COS2x/2% + cos3x/3?2
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Question 16

The positionvectors of points P and O,
are given by 2i+3j-k and 4i-3j+2k. The
vector PQin terms ofi, jand kis

p 8 o @ === (o 87 = 213k
SR8 4i3j2k | i, )ALk TRTE PQ
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Question 17

A¥X(BxC)isequalto



AX(BxC) AT TN 2T

Question 18

Vector 8xi—4Ayj + xykis solenoidal if

8xi — 4Ayj + xyk 4% (GHAB
TETH

Question 19

If Ais a vector the equation
[ A.dr=[] (VzA).dsisastatementof

[A.dr= JJ (VxA).ds 9% ANAIE
JAH, e A g8
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Question 20

Laplace's equation V2¢ =0in Cylindrical
Coordinatesis

AT ST Vi = 0 (I
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Question 21

Ifris the position vector of a point then
divris equalto

T r 0 IREH (559 TR
divr G NN ZEF

Question 22
If div{grad r"} = n{n+1)r"*thenthe value
of div(grad r¥) =

T divigrad i) = n(n+)r S
div(grad r?) A9 AW P9 2(F ?

Question 23

The value of ax{bxc)+bx{cxa)+cx{axb) is

ax(bxc)+bx{cxa)+cx(axb) JF TN I

Question 24

The gradient of a scalar field is always:



Question 25

The equation

(1 —z’)g —2::% +1(l+1)y =0,
Iz called:
A2 SafGrE

(1-5‘}%-2.«:% +1{l +1)y =0,

A

Question 26

The order of differential equation
d?y/dx?+ 2dy/dx+y=10is

A8 STRIFANMG diy/dx + 2dy/fdx +y =
0 59 TP T

Question 27
The solution of the differential
equation dy/dx=e* is:

I8 O TR dy/dx = e A9
ST =T

Question 28

IfP(A)=3/8,P(B)=5/8, P{A+B)=3/4,
then P(B/A) isequalto:

T P(a) = 3/8, P(B) = 5/8, P(A+B) =
3/4, 1 P(B/A) 99 NN Z(d

Question 29

The Fourier series forthe function fx)
=xfor - mEx=mis x =2(sin x— sin2x/2 +
Sin3x/3- ...coeee. ). Thevalue of /4 is

TN fx)=x 7 - nexen TEST

A9 x=2(sin x—sin2xf2 +
sin3x/3 - ..n) OIS 14 ST W
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Question 30

The threedimensional generalization
of wave equation has the form:
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